
CANYON FURNITURE COMPANY

TWO PEOPLE ARE NEEDED TO ASSEMBLE.

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

DO NOT COMPLETELY TIGHTEN ALL SCREWS UNTIL ALL COMPONENTS ARE CONNECTED.
LANDSCAPE MIRROR WITH 8 DRAWER DRESSER AND DOORLANDSCAPE MIRROR WITH 8 DRAWER DRESSER AND DOOR

(5532/5534-300) COTTAGE MASTER COLLECTION LANDSCAPE MIRROR ASSEMBLY INSTRUCTIONS

READ ALL THE INSTRUCTIONS AND IDENTIFY ALL COMPONENTS AND CHOOSE YOUR CONFIGURATION AND BE SURE YOU HAVE ALL PARTS

THANK YOU FOR YOUR PURCHASE !
PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

TO ASSEMBLE THIS PRODUCTS REQUIRES TWO PEOPLE

LANDSCAPE MIRROR WITH 8 DRAWER DRESSER AND 
DOOR CREAM

32255324     5532300        LANDSCAPE MIRROR
32155322     5532208        8 DRAWER DRESSER

LANDSCAPE MIRROR WITH 8 DRAWER DRESSER AND 
DOOR GRAY

32255348     5534300    LANDSCAPE MIRROR
32155346     5534208   8 DRAWER DRESSER

IMPORTANT NOTES :
HANDLE THE MIRROR WITH CARE, GLASS IS 

FRAGILE. BEFORE YOU BEGIN
YOUR PROJECT, COMPLETELY READ THE 

ASSEMBLY INSTRUCTIONS

ASSEMBLY TIPS:
1.- Remove hardware from box and sort by size.
2.- Please check to see that all hardware and parts are present prior start of assembly.
3.- Please follow attached instructions in the same sequence as numbered to assure fast and easy assembly.

BEFORE USING THIS PRODUCT
PLEASE READ, UNDERSTAND AND 

FOLLOW THESE INSTRUCTIONS
KEEP THE INSTRUCTION SHEET FOR FUTURE 

REFERENCES

FOR INDOOR USE ONLY

TOOLS NEEDED
PHILIPS SCREWDRIVER  

(NOT INCLUDED)

REV 01 10/16/2019 PAGE 1 OF 2 KIS01200-0



CANYON FURNITURE COMPANY
LIST OF CONTENTS

5532/5534-300  LANDSCAPE MIRROR
              FIG.1- LANDSCAPE MIRROR (1)
              FIG.2- 36" METAL SUPPORTS (2)
              FIG.3.- 8/32" X 1 1/4" SCREWS (4)

HARDWARE PACK  (HPK00134-0)
              FIG.3.- 8/32" X 1 1/4" SCREWS (4)
5532/5534-208  8 DRAWER DRESSER
              FIG.4.- 8 DRAWER DRESSER (1)

1.- UNPACK THE LANDSCAPE MIRROR (FIG.1) AND REMOVE THE 1 1/4" SCREWS (FIG.3) AND 36" METAL SUPPORTS (FIG.2) INSTALLED IN THE MIRROR, USING YOUR PHILLIPS
     SCREWDRIVER (FIG.5), THEN SLIDE DOWN BOTH 36" METAL SUPPORTS AND REPLACED CONNECTING USING REMOVAL SCREWS, SEE FIG.6.
2.- TAKE THE 8 DRAWER DRESSER (FIG.4) AND PLACE IT NEAR TO THE FINAL POSITION IN THE ROOM WITH ANOTHER PERSON'S ASISTANCE.
3.- PLACE MIRROR (FIG. 1) ON TOP OF DRESSER (FIG.4), BE SURE TO POSITION THE MIRROR IN THE MIDDLE OF TOP. THE BACK BOTTOM EDGE OF THE MIRROR & THE BACK
     EDGE OF THE TOP SHOULD BE FLUSHED, SEE FIG.7.
4.- ATTACH 36" MIRROR SUPPORTS AT BACK OF DRESSER, ALIGNING HOLES OF METAL SUPPORTS WITH HOLE THREADED INSERTS IN THE DRESSER SEE FIG. 8, ATTACH
    WITH 1 1/4" SCREWS USING YOUR SCREWDRIVER TIGHT ALL SCREWS, SEE FIG.7.

FIG.11

FIG.1

HARDWARE PACK
HPK00134-0

FRONT BACK

FIG.2

FIG.3

FIG.4

FIG.5 FIG.6

FIG.7 1 1/4" SCREWS
RIGHT POSITION FOR 
METAL AND SCREWS

FIG.8

THREADED INSERTS

REV 01 10/16/2019 PAGE 2 OF 2 KIS01200-0


